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Exercises

Use Rt OpEarys method described in this section to find the general solution of each of
the following lincar systems.

1. %%—%—23:—4}'-—-0', 2 %+%—x=-2t,
% %)?—yz B Z—':+j—y—-3x y =t
3 % %—"—3}’=€’, 4 %+%—-x-—2y=2e‘,
%—-4-%4 % =g % %—-3x—4y=ez'.
5 2%+%—x—y= &, 6 Zj—x-l—i—f— —y=t,
%4—d—’+2x+y=e‘ j—:+%—4x—y=e‘.
LD e s XDy
%':ﬁ 2f1_i._ x — 6y = j_x 2%2*2x—3y=1
0. 22y =sint, 0. &L _2xray=t
%.g.j___y_x_y:o_ ‘%+a¥—x-—y=l
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11,

13.

13

17.

19.

21.

In caf:h of Exercises 23-26, transform the sin
(7.6) into a system of first-order differential

23.

285,

SYSTEMS OF LINEA

R DIFFERENTIAL EQUATIONS
d\ d ) . Cy = 4t
- D yx+Sy=4

: dr

dx d\'+‘)\+2\*u2
@

d*x dx

el A _ .2
d3x d*x dx

38X .4
dr’“d’ U~ 514 =,

12,

14,

16.

18.

20.

22,

26,

ix dy

!‘}?- ‘?}"‘“t+ S]n “f:.
dx dy

grig - Rthyayy,
dx dy

3,3}.. 2-‘-!? .\+}“"[ l
dx  dy

— e = X = 2

dr dt

dx y

— W—— S — '='—)
2dr""a!r ‘ :
%1 %:f+ y =t
d*x dy 2t

E}T 'a'}-—-e '

dx dy

dix dy MY

ar " ar &

d
a—;+%}-’—4x—y=2e'.
d*x dy

-&T+4d + x =4y =0,
dx d Pt
'Er—+-j;-’—x~.-h9y=e".

gle linear differential equation of the form
cquations of the form (7.9).

24,

d>x d’x  dx
F 2dr3 —--a—-—l\=t‘3'-

d*x d?x

‘&‘;‘r“f’d*';-+2tx=cosr. .
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Ex. 8 Solve %-ua- y=0

Y _9x—fy=
% z 5y...o‘

Ex. 3. Solve %+2z—3y=t

%-—33+2’=¢3J

Ex. 4 Solve 4954 g _
dt+ _d‘+442+49y_t

g8
dt

~ Ex. §. Solve %%—3:-—4.y=0

+1% 1 342+ 38y = ¢

dy N A
dﬂ+ z+4 y.—=o « §
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